QUIZ 142  Brydz VII/1969

Rece W
0/0/N NS/E WE/S 1/1/E
1. 2. 3. 4.
& K943 s A & AKS & KD543
v4 v AKD84 v D1085 v K
* W2 + 84 ¢+ W1092 + DW
& AKD864 & AW1086 & W10 & KD754
WE/E 1/1/S 0/0/W WE/N**
6. 7. 8. 9.
# D108543 4 KD104 & KW5 « D104
v?2 v D4 v AW964 v W83
¢ 87424 8765 ¢ A2 ¢+ K74 & K95
& 53 & A95 & 1097 & DW102

*N otwiera 1l &
** N otwiera l ¢
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Re¢ce E

WE/S 1/1/E
3. 4.
& D2 & AW9
v 52 v 1064
* A754 ¢ A83
» KD643 & AW93
0/0/W WE/N**
8. 9.
» A8 & A72
vD v D954
+ KW95 ¢ AW92
& ADWGE53 & K7

NS/N*

S.

o -

v D9752
¢+ AKD76
» K62

1/1/E

10.

« AKD1074
v 42

+ ADW4

L Y
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Punktacja:
1. 2. 3. 4. 5.
3BA - 9 7 - 11 1BA - 10 6 - 10 2%
4% -5 T7BA - 10 2BA - 9 54 - 6 1BA
3¢ -3 6BA - 4 2¢ - 8 64 - 5 3¢
4¢ -2 69 - 3 3¢ - 7 5& - 2 2&
5 -1 2% - 6 2 BA
3 - 5 1 & ktr
3BA - 4
ly - 4
Pas - 3
6. 7. 8. 9. 10.
44 - 10 3¢ - 10 6 - 10 3BAW)-104BA
5 - 7 24 - 9 6BA - 7 3BA(E) - 85BA
3BA - 5 34 - 8 5BA - 5 lekir - 84e
5 - 3 4¢ - 7 4 - 2 2BAW)- 654
6# - 2 3& - 6 5« - 1 2BA(E)- 54
6 - 1 44 - 5 lepas - 3 5¢
4& - 4 lw - 364
5¢ - 3
5 - 1

Doroszewicz — Mojsesowicz-
Fry — Koytchou -

Frey — Moyse -

61 pkt
55 pkt

52 pkt
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